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Program Records:;

Uses dos, Crt,Graph;

var

Gm,Gd: Integer;

regs:registers;
row,col:integer:

precedure Dhaka;
bagin

outtextxy (450,30, 'DHRKA') ;
cuttextxy (350,50, "It is famcus {or Hational'):
outtextxry (350,60, 'places. ') ;
ourtextay{359,70,"");

end;

procedure chittagong;

begin

outtextxy (450,100,
outtextxy (350,120,
end;

procedure khulna;
begin

outtextxy (450,170,
ocuttextxy (350,180,
outtextxy (350,180,
end;

procedure Raishahi;

r

begin

outtaxtxy (450,210,
outtextry 350,220,
cuttextxy {380,230,
end;

procedure Barisalr:
begin

outtextry (450,250,
cuttextry (350, 260,
outtexrtry{3bo, 270,
end;

procedure SYLHET;
begin

ocuttextxry (450,290,
ocuttextxy (350,300,
outtextxy (350,310,
aend;

'CHITTAGONG®

'KHULNA' )
It is famous

!!);

TRAJSHAHI® )
'It is famous

Yy :

*BARISAL' )
"It is famous

!I}’c

'SYLHET' }:

"It is famous
TYy:

Frocedure GetChoices;

Begin

SetBkColor{yellow);

SetBiColor (0);

(PSR4 e ( (&

Rectangle (0,0, 315,405);

{vertical}

Y r
It is the south-eastern city of Bangladesh.' }:

for

for

for

for
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sunderpan, ' };

mango. ');

rivers.' );

tea,orange. "} ;
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delay (100}; 1line(d5,0,45,305) ;delay{100); 2ine{%0,0,90,405);
delay (100); 1ine{135,0,135,405);delay(100); 1line(180,0,180,403);
delay(100); line(225,0,225,405) ;delay(100}; line{270,0,270,405);




{Horizcniall
delay {100} line{0,45,315,45) ;delay(130}; line{U,50,315,90);

delay (100) ;1ine(0,135,3215,135) ;delay(100); line(D,180,315%,180);
line(Q,225,315,225) ;delay(100}; 1line(0,270,315,270);
delay(100}); line(0,315,315,315);delay(100); line(0,360,315,360);

delay (100} ;

{ h

delay{50);
delay(50);
delay (50);
delay (50} ;
delay (50 ;
delay (50} ;
delay(50);
delay (50 ;
delay (50);
delay (5] ;
delay (b)) ;
delay{b0);
delay (50} ;
delay(50};
delay {50} ;
delay{50};
delay (50} ;
delay (50} ;
delay(50);
delay (50);
delay (50) ;
delay (b0} ;
delay (50} ;
delay(50);
delay(50);
delay (50);
delay (50} ;
delay (50} ;
delay (50}
delay (50}
delay(50});
delay (50}
delay{50};
delay{b0};
delay {50} ;
delay (50} ;
delay (50);
delay (50} ;
delay {50} ;
delay{50);
delay (50);
delay(50};
delay (50} ;
delay(50);
delay {50} :

{up ..left.
line (65,98,

) ad }

line(112,97,117,96) ;delay (50} ;
line(112,92,111,90) ;delay (50} ;
line{113,87,114,78) ;delay (50}
line(111,71,111,63);delay (50);
line{114,57,112,57) rdelay (50} ;
line(115,55,112,52) ;delay (50);
1ine(112,50,109,52) ;delay(50);
line{110,46,104,41);delay{50);
line(104,37,102,39%);delay(50);
iine(102,42,100,42);delay{50):

line{112,97,112,92);
1ine(111,90,113,87);
line(114,78,111,71);
1line(111,63,114,57);
line(112,57,11%,55);
line{l1l1z,%2,112,5%0;);
line (109,52,110,46);
line{104,41,104,37);
line(102,39,102,42);
line{100,42,99,45):

1ine(99,45,102,48) ;delay{50); line{102,88,98,52):

1line{58,5%2,55,54) ;delay (50} ;
line(96,54,95,51) :delay({50);
line(92,53,89,50) ;delay ({50} ;
line(86,52,75,45) ;delay(50);
ling{71,26,68,27}):dalay(50)
line{63,24,60,30}):;delay (50}
line (69, 35,67,38) ;delay (50} ;
line(60,34,58,38) ;delay{50);
linei{46,30,46,28) ;delay(50);
line(45,25,44,22) ;delay (50);
line(42,24,38,17) ;delay{50):
line(35,17,24,10) ;delay (50);
line(28,21,30,24) ;delay{50);
line(32,22,37,23) ;delay (B0} ;
line{37,26,39,27):delay{50};
line({3%,30,35,20)::delay{50});
line(33,32,30,31):delay(50);
line(26,39,21,39) ;delay(50};
line(18,4%,19,49) ;delay(50);
line{14,52,14,60) ;delav(50);
line{17,65,18,64) ;delay(50);
line(20,65,24,63) rdelay (L0} ;
line(33,72,34,76) ;delay(50);
line(37,77,37,80);delay(50};
line(47,85,45,83) ;delay (50}
line{51,84,52,81);delay(50);
line (b5,85,53,90):delay (B0}
line (58,95,59,93) ;delay (50}

line(65,98,60,%39) ;delay(50); line({&0,99,60,104);

line(8,135,20,150);

line(20,150,22,147) ;delay (50); line(22,147,26,154)Y;
line{26,154,32,152) ;delay(50); 1ine(32,:52,37,157;;
line{37,157,39,151) rdelay(50;; iine(39,151,43,158);

line(43,158,45,15%6);

.upjdelay (50} ;

60,99) ;delay(50}; line (60,59,

line{%%,54,596,54);
line(9%,51,92,53);
line{89,50,86,52)
line{75,45,71,26);
line(68,27,63,24):
line{60,30,069,35);
line({&7,38,60,34};
line(%8,38,46, 30} ;
line(46,28,45,258);
linetdd,z2,42,24);
line(38,17,3%,17);
line(34,10,28,21);
1line(30,24,32,22);
line(37,23,37,26);
1ine{39,27,39,30);
line(35,30,33,32):
line(30,31,26,39);
line(21,39,18,45);
line{19%9,49,14,52);
line{(14,60,17,65);
line{l18,064,20,6%);
line(24,63,33,72);
line{34,76,37,77):
1ine(37,80,47,85);
line(49,83,51,84};
line(%2,81,05,85);
line(%3,50,58,50);
iine (55,093,865, 38);

60,104} ;
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delay(h0}: 1ine(60,104,55,101) ;delay(50); 1ine(55,101,52,105) :delay (50
line(52,105,48,101;; s
delay(50); 1line(48,101,39,103) ;delay(50}; line(39,103,33,100):delay(ﬁ@):
line(33,100,30,116);
delay(50}; line(30,116,28,115);delay(50); line(28,115,25,119) ;delay(50);
line(25,119,27,122);
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delay(50); line{27,122,23,121);delay (50} line{23,121,21,117) ;delay(50]
line{21,117,14,119);

delay(50); line(14,119,16,122) ;delay(50); line(16,122,8,135);{uU.......& end}
delay(5C); 1line(117,96,127,102) ;delay(50); line(127,102,130,10z2};
delay(50); line(130,102,141,105) ;delay{50); line{141,105,147,104);
delay(50); line(147,104,157,103) ;delay(50}; line{157,103,163,107)
delay(50}; 1line{163,107,164,105} ;delay(50}; line{164,105,180,104};
delay(50); line(180,104,192,104) ;delay(50); line(192,104,1%6,106);
delay(50}; line(196,106,198,105) ;delay(50); 1line(198,105,204,108);
delay({50); line(204,108,210,105):delay(50); line{210,105,213,109});
delay(50); line(213,10%,219,100);delay(50); 1ine(212,106,227,1058;;
delay(50); line(256,13i4,262,123);

[ #4444 b

delay(50;; 1ine(153,294,151,299);delay(50);

line(15]1,299,155,729%8) ;delay{50); line(155,298,153,303};

delay ooy, 11ne(153 303,165,291) ; {delay (50);

line{lé&s, 251, lb?).ldelay(SOJ. line(167%,284,165,281;;

delay (503 line(165,281,167,271) :delay(50);

line{(167,274,161,265) ;delay(50); line{l6l,265,1b8,264);

delay(50)y line(158,264,156,255) ;delay(50);

line{15¢, 255, 1@9,257);delay{50); line(14%,257,151,259);

delayi50); iine{1%1,259,148,285);{*** r s ldelay(%0);
linei{145%,235,145%,291);

delayib0); line(145,261,148,201);

delav({50); 1line(148,291,153,280};

delay(50); line(1%3,280,150,275);delay(50); line(l50,27%,151,272};
Adelay{=0); line{151,272,146,285} ;delay(50); line{lqh,QE: 143,255)
delay (50} line(143,255,139,2558;);

delay(50); line(139,255,137,247):

delay (50); line(137,247,139,244) ;delay{b0); line(135,244,134,233);
delay(50); 2inei134,233,136,234) ;delay(50); line(126,224,137,239);
delay(30); line(137,2392,147,22358);

delay (50); line(147,239,145,233);

delay(50); line(145,233,142,228) rdelay(50); line(142,229,145,222);
delay(50}; line(145,222,144,220);delay(50); line{l44,220,133,226);

Jl'lr** }

delay{B9); line{200,235,199,223);

delay(50); line(18%,222,201,225);delay{20); line(201,22%,209,243);
[Eehtdrbr  yg khdkrrLldelay(50) ;1line{237,105,256,114) r{rs}

{ra 2}delay (50);1line (258, 126,262,123);{rs2}

delay (50} ; 1line(209,243,212,241) ;delay(b0); line(212,2481,223,237);
delay {h0); 1ine(223,237,219,219);delay(50); 1ine(21%,219,232,210):
delay(50); line{232,210,231,196) ;delay(50); 1line(231,195,237,201}
delay(50): line(237,201,243,195):delay (50} line(243,195 247, 400)
delay{50); line(247,200,250,186) ;delay{%0); 1line {250,196, 256,225}
delay(50); 1line{256,225,253,240) ;delay(50); line{Z53,240,261,249);
delay{50); 1line(261,249,269,2%4);delay(50); lins(269,2558,263,300);
delay (50); line{263,300,270,300! ;delay(50); line{270,303,267,327};
delay(50}; line{d&7,327,272,349) ;delay{(50); line{272,34%,263,341;;
delay(50); line(263,341,261,3242) ;delay(50;; line(261,342,253,342):
delay{50}); line(258,342,255,336) ;delay(50); line(255,342,248,345);
delay(50); line(248,345,243,357);delay(50); line(243,357,255,384);
delay(50); line(25%,384,240,360) ;delay(50); 1ine(240,360,235,345);
delay(50); line(235,345,231,339) ;delay(50); line(22%&,633¢,224,333);
delay(50): line(224,333,226,330):delay(50): line(226,330,225,328):
delay{50}); line{225,328,226,325);delay(50); line(226,325,228,320);
delay(50); line(228,336,231,333) ;delay(30); line(231,333,231,324)
delay (50) ; 1ine(231,324,228,318);delay(50}; line(230,336,230,334};
delay(50); line(230,334,229,324) ;delay(50}; line{229,324,227,317:;
delay{50); line({227,317,228,310);delay{50); llne(2¢4,298,b¢k,312);



delay (50);
delay (50);
delay(50);
delay (50} ;
delay (50} ;
delay (50):
delay (50} ;
delay (50}
delay(50):
delay(50);
delay {50}

{*\l-l-wki-l'*&i-ic

line (228,312,228, 254} ;delay (50} ;
line{223,295,225,286) ;delay (b0} ;
1ine{233,286,222,2%0) ;delay (o) ;
1line(219,276,202,2553} ;delay (50);
line(20%,247,198,257)
line {192,260, 18¢,25%) ;delay (S0},
line(1%1,264,185,2é5) ;delay(b0);
line(1%1,267,186,270) ;delay (50);
line{180,265,174,267) ;delay{50);
line(168,261,161,267) ;delay(50);

line (228,294,255, 205 ;
line{(Zzbh, 266,223,280} ;
line (222,290, 219,278
line{202,255,205,247);
lin={198,25E7,1%92,260);
line(186,25%,191,2¢€4);
line{189,Z8h,1%1,267);
line(186,270,18B0,265);
line(174,267,168,261);
line{l61,267,160,256);

plelay (80 ;

line {160, 25¢,152,234) ; {>>m»<<<l]

NEW
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delay(50)}; line(258,126,251,118) ;delay(50);
line{251,118,248,128);delay(20); line(246,128,250,129);
delay(50}; line(250,129,250,134) ;delay{50);
line(250,134,246,140) ;delay {50} line(246,140,247,248);
delay(50y; line(247,148,243,147) :delay(50);
line(243,147,244,153) ;delay(50); line(244,153,240,156);
delay(50); line(2480,156,232,155) ;delay(50};
1ine(232,155,234,158) ;delay(50); 1ine{(234,158,231,157);
line(231,157%,229,161} ;rdelay {50} ;
line(229,161,230,165) ;delay(50); line(230,165,228,170);
delay(50); 1ine(228,170,225,164) ;delay(50):
line(225,164,223,16¢) rdelay(b0); 1line{223,166,210,164);
line(219,164,220,170) ;delay{50);

delay (50}

delay({50);

Line(220,170,216,169) ;delay (50);

line(216,169,215,1685);

delay(50); line(215,165,214,165) ;delay(50);
line{214,165,209,171);delay{50); 1ine{203,171,212,171};
delay(50):; line{(213,171,210,174) rdelay{b0);
line(210,174,203,174) ;delay (50) 7 line(203,174,196,172);
delayt50) ) line(198,172,200,176) ;delay(50);
lin=i2060,176,198,180) ;delay{50); 1ine(19%,180,184,120};
delay(tn); 1line(194,180,192,183) ;delay{0};

line{192,18%,190,183) ;delay (%0} :

1ine(150,183,195, 18¢6) ;

delay(50}; line(190,186,151,189) ;deliay(50);
1ine(191,189,190,193);delay(50}); 1ine(190,193,1485,197);
line (185,197,1688,189} ;delay ({50} ;
line{149%8,198%,18%,20%1) ;delay (50} ; line (185,201,185, 208);
G,208,187,207) ;delay (50);

delay (50} ;

delayi50); lins(18

line(187,207,191,212) rdelay(50); 1lina(191,212,103,21:8);
delay(50); line(193,218,194,218) ;delay(50);
line{194,218,193,220) ;delay(b0); 1line(l93,220,195,231);
delay(50); 1ine(1%5,231,198,238) ;delay(h0);
line(198§,238,200,236) ; {delay{50}; line{200,236,198,233);
fdelay b0y line{l98,233,200,224) rdelay(50) ;)

{*i*i-b*ti—

frectangle

delay (501
delay (50 ;
delay (507 ;
delay (50,
delay (50}
delay (b0 ;
delay{50);
delay(50);

{UNDER}delay (50}

N
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365,235,600,405) ;
cipcletd70, 305,50 ;!

line{d4%,156,48,159);

line{4%,159,48,168) ;delay(50};
line(45,168,48,180) rdelay (50 ;
line (38, 185,37,200) ;delay (50);
line{47,209,51,207) rdelay {50} ;
line(43,219,80,227) ;delay(b0):
Line(52,240,99,249) ;delay (50} ;

line(%6,255,65,321);

line(46,168,45,1068}
line(48,3180,36,185);
lipe!{3d7,200,47,209);
line{(%1,207,43,21%);
line{60,227,52,240);
iine(59,249%,56, 255} ;

line(65,321,66,2318) :delay (50}



line(66,318,64,314) ;dalay (50); line(65,312,87,318::
delay({50); line(67,316,63,312} ;delay{S0};
line(69,312,69,306} ;delay(50}); line(6%,306,71,306}
delay (50} ; 1ine(71,306,71,312) delay(50};
line{71,312,74,312) ;delay {50}y line 74,307,76,207;;
delay{50) line{76,307,78,31Zirdelay 20}
line{76,313,79,307) ;delay (50); 1ine(78,304,75,301);
delay{50); line{79,301,80,306) ;delay{50);

line (80,306, 82,305) ;delay (50); line(82,305,8D,315):;
delay (50} 1line(80,315%,82,321);delay(50);
line{82,321,8¢,318) ;delay (50} 1ine(86,216,86,308);
delay{50): line{86,308,89,306) ;delay(50);

line {8%,3006,87,303);

funder2}

delay(50); 1ine(95%,308,98,310}) ;delay(50);

line(98,310,101,313) ;delay(50); line(101,313,102,310);

delay (50} 1ine{102,310,105,312}) ;delay{50;};

line{l05,312,107,308) ;delay (50} 1ino(107,300,105,310);

delay(50) 1ine(109,310,110,308) ;delay{50);

line{110,308,108,301) ;delay(50); line(108,301,102,299);

delay(50); 1line(1G2,29%6,108,298) ;delay(50);
1line (108,296,110,291); {delay (50} line(l10,231,);:}
delay (50): line(111,257,115,303) sdelay (50):

line {115,303,118,207) rdelay(50) s 1ine{118,300,116,302);

delay(50); line(116,302,119,204) ;delay (50},
line(119,304,122,299Y ;delay(50); iine(122,299,125,
delay(50); linetl1Z4,300,118,309) ;delay(50};

296}

line(llS,SOQ,lZO,SIG];delay{é@}: 1ine(124,311,122,310};

delayibf): line{lla2,316,122,313):delayl50);
lire{122,313,129,315) ;delay(b0); line{12%,31%,132,23
delay{%ﬁ), 11ne(1dl,31? 137,309 ;delay({b0);
Tine(132,309,138,297) rdelay(50); line{l36,297.143,
delay(BD}: line{138,303,135,311);delay{50):

line(13%,311,138,306) ;delay{50); line(138,306,138,308)};

dalay(50): line({138,309,144,303) ;delay(50)};

12)!'

297);

Iin=1{144,2959,14%6,2304} ;delay(90); lins(146,304,150,200);

{illdelay (59} line(70,313,74,314) ;delay(b80};
Iine{74,314,75,318) ;delay(50); line(75,216,71,2317);
delay(59i; line(71,317,70,313};

{iZjdelay(50); line{75,317,71,314) ;delay(50}; line(71,31%,70,324
delay(b0t; line{70,324,73,325) ;delay{b0); line{73,325,75,322);

delay(b0); 1line(75,322,78,320);
delay(bG): line{74,320,75,317});

{i3)delay (50); 1ine(90,312,91,321);delay{50); line(91,321,94,2320);
delay(50}: line(94,320,94,316):delay(50); line(94,316,90, alZJ,

{id}delay{50): line(9l,311,55,305);

delay(50); line({95,30%,95,311);delay(50}; line(95,311,100,316);

delay {20 line(109,316,91,211);

{ifidelay (501 lineil147,306,147,300);

delay(50); llne{147,¢09 lup.SOS};delayfﬁo}; line (15
{ié6}delay(50]: iline(i%Z,309,157,306);

delay(50}; line{157,306,156,304) ;delay{(50); line(156,304,152,309)

{i....volaldelay(50}; line(l48,265,155,270});
delav({50); 1ine{155,270,156,28%);
delay(50); linet156,285,153,294);

frodddndd for district hod kb ke )

SETCOLOR{3};
QUTTEATXY (138,200, "DHAKA") ;
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if {row>=1358) and {(row<=180) and (col>=45) and (col<=135) then
if (rege.bx=0} then Rajshahi;

1f (row>=270) and {row<=315) and (col>=135) and {col<=Z25) then
if {regs.bxz=0) then barisal;

1f {row>»=90} and {(row<=135) and {(col>»=180) and (col<=270) then
if {regs.bx=0) then sylhet;

until keypressed;

end;

end;

begin

gd:=detect;
initgraph{(gd, gm, "c:\tp\bgil ") ;
getcholces;

repeat until keypressed:

and,




